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21,09 4B .
© £ (o”/'o /(12 pe=0085
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=104e8y,, [ + 05088 by (13T . Tropuig-
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Chebycher:  A(2u) = w/&%[. ve ook’ ( S R 2)}

= U5.% dB.
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| 2°L5to.5e: e K=2,Thon, Q=\m=
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/(2 &f, ¢)= l/(zn X2.2x 8,56x10°x1g3 ) =
T56TKR, mR=36.62 k2. |
_ 34 Stage Use,zm*-'—m?—l)d: ImF.
Thew, R=1/(z0f,¢) = | /(2xx 12T x10° 1673 =
2492k, K=3-1/@=3-1/8= 2875 =
Re/Ra= 1.8715. Lek R, =10.2KR, Rp=19.1kQ.
Do Gain: Ho= Ky xKa=2x2 875
=505, T achioe H,= L, splbik Ao
Jst renstn of MMGL'QR&Q_ mbo tunr
/L%Lﬁﬂo) Riamd_ Re, puch Aot Ro /Rt
Re)= /515 Land R\/R2= 249 K.
Thws, RiRo/(RitR2) = R/5:75 = 12.49 =
Ri=U.8 KR gud Bzz 5122, Tor
cabibrate Q,, ik man be adwisalile 15
moMe the 19 1.2 peevston cdyuiodite .




C=2mF mC=35mF, R=R.51LR, mR= 1943k,
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0.2k, K=3-1/Q= 3- 1/0.56% = 1.227
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45¢ S . R= l/(?.m%oi_ﬂ):d/@ﬁx
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24 Stage: R=u42.431k2, R=
L334 ML, Ry = G. TS, Ry = 0k L.

2d st)}p,: R=1/(endps C) = 1/

(Ztr)c”JGOO»clo"?’ - i 21k, Ri=QR=
3L xUl.2\ = 385.5 kST,
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Stge No L+ C= 1mFy) mC =30aF,
R= 6885, mix=1.098 k.

S»ta&LNoZ: C=1mF, m(= 93 mF,
R=2.08 R, mR= 5Lk W,
fate Mo 3 CoqmF, md = 5mF
R= .26k, mR= [T W
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Vog = qwl (V -Vay).

Vor. %W«mﬂi&.&t%’l}wﬂfy

-3 - Rs |
V2= = Ruits oL
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T =~ & RE? Re 7 = ~w DV | Thws,
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AR 49K pe gy q.
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T8MKQ), Lot ¢ =
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Lot C= LuE. Thew, L= 1/ (an o Vd]=
/126 1576] = 25. 93 kH. Use doz | | F,
R= \ﬂ-‘_/cj~ \I2‘5330x(06 -"ISSIAQ R, =
0o KQ Ry = QWG— = lO\IZ'p%oxlofv =
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avbune. Ahe ontpul /@W
TJB\P/'\) HOBP-— VNV,




.2 Vse 4dmF aéto’h)noﬂ/e\.o)b Kz= 102
/s T’P‘“) Conew) = loheﬁ(old)) Rinew) =
15, N5 Liold) , Dimew) = 1.592x16 C 10y
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d Ry Ry Rg Rn

ImF  2m,6u5.02] 4l qa0n| 4,990 | 21 65

11
O = W= =

+
— — | &=V
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%M FDNRs At CI:CS:I%F) Rz_'—‘*RS':QQ.
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2.0025 % o=t = 20.025 KL . Fer Dy e hare
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Wit The ol Laddan i sl o
ﬁb{q Anﬁww chotie Kz o Mhat Ll
O Lt ane. M%MLW lOmF,caf»aﬁa_.tb%.
Thus, 101073 = I/(2ux500xKz % 2.1664) =
Kz = 14,692, Ry = Kz /Reay = 1469
KQ. C‘l ".:Cr( =\om¥F. C.,)':Cr_.,-":: l/(‘ZTl‘xSOOx
4 6922 3. 0930) = TmP. L, =L =692/
(zmx500x 1.W5)= 4. 20T H. Ly =W 642/
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W. Tutle 5% and 34 GlC
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Fathe 24 Glc, §%= 2.985/16¢ = R, =
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- 1 _ ..".:.L
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C eV, . T}LMWMWWW&
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6= Cofc, wp= (Cofd) Lol -

() G=1pF, G2 15.4pF) C, =159 pF:

W | @y ¢, /C, = 250 [(en2) =19.9,
A/t =&=2./1. Ve dgalaoF) d,=2p¥, ¢,
=%3.% pT.
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. | -5V
Vo E}f% %I&E = =
T T 1 ; T
1
0

20 19 &8 17 16 15 4 3 2 |
§ 6 1 8§ 89

<+ ] +
Sy sy L0
'FCK

100 kHz

o T

[ 4a | Use b confs guunastion of he.
@Tg,g(,'{:% WAL Ast PG)%@:IIZ,-;Q,)-:ZQO
KR, Ry 55610, Ru=8.87 L. 24 stage: R,
=200k, Ry = 280U, R3y=63.kleQ, Ry=16

kL. Dmwpose = /100, Loy = 200 Wiz,




G.27)

k.5 Usp,m s;iF 440
A fake . R,= %9ZL¢R/RE—19@ R, Rs=
LT, llq- 7.8, Ry=10.0Ld2, R =10.0
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